%
.Xa TS| EMPIRE

|BM
S2000-026

IBM Maximo Manage v9 Work Management Specialty

For More Information — Visit link below:
https://www.examsempire.com/
Product Version
1. Up to Date products, reliable and verified.
2. Questions and Answers in PDF Format.

https://examsempire.com/

Vist usat: https.//www.examsempir e.com/s2000-026


https://www.examsempire.com/�

Latest Version: 6.0

From the Work Order Tracking application, Related Records tab, the Work Order a user wants to relate
is not available in the Select Work Orders list. What would cause this?
Response:

A. The Work Order status is COMP.

B. The Work Order status is CLOSE.

C. The Work Order's asset is different.

D. The Work Order is already related to a different Work Order.

Answer: B

What two types of resources can be viewed when using the More Actions View>Costs on a Work Order?
Response:

A. Labor

B. Material

C. Budget

D. Exchange Rate
E. Capital Expenses

Answer: A,B

Which type of views in the Work Orders Role Based application can be deleted by a user?
Response:

A. All Public Views

B. Public Views created by other users

C. Private Views created by other users

D. Public Views created by the logged in user

Answer: D
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When a Safety Plan is applied to a Work Order, which procedure allows the hazards associated with the
Assets or Locations on the Safety Plan to be eliminated?
Response:

A. Hazards

B. Tag Out

C. Precautions

D. Hazardous Materials

Answer: B

Which application in Maximo Manage can be used to save the user's current GPS location during the
execution of a Work Order?
Response:

A. Quick Reporting application

B. Assignment Manager application

C. Technician Role Based application

D. Work Logging Role Based application

Answer: C

Where in Maximo Manage can a user change their Default Insert Site?
Response:

A. Start Center

B. People application

C. Suite Administration

D. Profile>Default Information

Answer: D
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A contractor needs to be hired. What are two methods to add a planned service to a Work Order?
Response:

A. Add a Tool.

B. Add a Craft.

C. Add a Service.

D. Add a Contract.

E. Add a Standard Service.

Answer: C,E

How is labor planned for an individual task on a Work Order?
Response:

A. Associate the labor record with a Task.

B. Associate the labor record with a Contract.

C. Associate the labor record with a Skill Level.

D. Associate the labor record with a Child Work Order.

Answer: A

When creating a Work Order, a user populates the Asset, Classification, Work Type, Failure Class, and
Problem Code. Realizing they made a mistake, the user removes the Failure Class. What other value is
automatically removed?

Response:

A. Asset

B. Work Type

C. Problem Code
D. Classification

Answer: C

A user needs to assign multiple technicians in the Assignment tab to a single Work Order for a complex
repair job. Which statement describes how labor assignment hours are calculated in this scenario?
Response:
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A. The estimated hours are automatically divided equally among all assigned technicians.

B. The system prevents multiple assignments when estimated hours are specified on the Work Order.
C. Each technician must be assigned specific hours that total to the Work Order's estimated hours.

D. The estimated hours apply to each assigned technician individually, multiplying the total labor hours.

Answer: C
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